
…due to inertia, the glider
will get more velocity than 
sufficient to a balanced 
flight…
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Balanced flight =  
Constant speed 
and glide path

TFW = AF
Due to aerology 
(ie: turbulence,exiting a lifting area), 
wing efficiency decrease…

…so…

…AF becomes smaller than TFW…

…so…

…the glider sinks then shoots 
down to regain speed… When the pendulum 

return brings the pilot 
straight under the glider,

AF is higher than TFW…

                   …so…

the glider climbs-up. 
The pilot feels a

backward rocking
motion before…
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...then…

...the flight
becomes

balanced again.
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- Unbalanced flight -
 – Aerodynamical consequences of velocity changes 

around paragliders profiles. (Blue level)

AF : decomposes in forces of Lift (L) and Drag (D)TFW : "Total Flying Weight", includes weight of the pilot, 
of the glider, of the harness and of everything onboard.

Vector - définition
A force vector is a representation of a force that 
can be figured by a line segment with :

-its point of application which is the exact location 
where the force is applied

-its line of action

-its magnitude figured by its lengh proportinal to 
the force’s magnitude

-an arrowhead pointing in the active direction
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